
 

TR20 Issue 11 © 2017  Page 1 of 1 

INSTRUCTION  MANUAL 

Introduction 

TR5/TR6 Drum Trolleys 

TR6 55Kg Trolley 

TR5 20Kg Trolley 

Thank you for purchasing either a Macnaught TR5  
or TR6 Drum Trolley. The TR5 trolley has been 
designed to suit 20 kg containers and the TR6 trolley 
is designed to suit 55kg containers. 

Note:- If fitting a new set of replacement castors to a trolley 
manufactured before August 2002 you will be required to 
drill out the castor holes in the trolley base with a 3/8” 
diameter  drill. 

  5 

 5 

 3 

  4  

For Warranty Terms and Conditions see macnaught.com.au  
For a list of Australian Service Centres see macnaught.com.au  

Replacement parts

Item No No. Req Part or Set Part Name

1 1 n/a - new  trolley required Trolley Base

2 4 n/a Thumbscrew s

3 4 Castor

4 4 N630s Hex Nut 3/8" UNC

5 8 Washer 3/8"

Replacement parts

Item No No. Req Part or Set Part Name

1 1 n/a - new  trolley required Trolley Base

2 4 n/a Thumbscrew s

3 4 Castor

4 4 N630s Hex Nut 3/8" UNC

5 8 Washer 3/8"

Note:  

This product should be disposed of according to all applicable local 

and national government environment regulations and guidelines.  


